Name: Gopal Kumar, Bridgewater, NJ


Solution to: Problem Number 8


Pentagon A is made up of 5 traingles exactly like OAC and the star is made up of 5 shapes exactly like oaxc. 

Area  of shape oaxc is area(oac)-area(xac). 

Areas for triangle oac and xac:

Area(oac)=1/2*ac*om=cm*om

Area(xac)=1/2*ac*xm=cm*xm

om/cm=tan(54); om=cm*tan(54)

xm/cm=tan(36); xm=cm*tan(36)

Area(oac)=cm*cm*tan(54)

Area(xac)=cm*cm*tan(36)

Area of shape oaxc=cm*cm*(tan(54)-tan(36))

(Area of pentagon)/(Area of star)=5*cm*cm*tan(54)/(5*cm*cm*(tan(54)-tan(36)))

=tan(54)/(tan(54)-tan(36))=2.118

Area of the Pentagon is more than twice the area of the Star!!!

Area of A is more than twice the area of B is the correct answer!!!

Angle(oac)=angle between line oa and line oc


Angle(oac)=Angle(oca)=54 (half of the angle between sides of a pentagon)





Angle(xac)=Angle(xca)=36 (From right triangle ayc: 180-(90+54))
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